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O 9277 R2WKR RINT 270 70 RIORT 89 O — And if not, I will pass
Jjudgment against you, as per the ruling of Im11q according to °''".

Overview

X1°27 fenced in X117 on all four sides and demanded from X°117 payment of
(at least) 201 R (the cost of a watchman). X°117 refused. X217 told X117
that if he does not pay for this limited amount, he will rule that X117 must
pay a much greater amount in accordance with the opinion of *"97 R2°2KX 7".
The question is, whether ¥27 truly maintained that the 75777 is according to
M7 XX 7", or perhaps X211 does not agree with "7 R2°9K 1", he only
said it as a threat to induce X111 to pay the minimal amount.

791 7157 NXP — it appears somewhat —

75 MR 77 17MEaY XYW — that X211 was not saying this to merely frighten
him (X°117), however X2 himself maintains that the ruling of "7 X2°%X 71"7 is not

legally binding. This is not so, rather X217 agrees that the legal ruling should follow the
opinion of *"17 X2°%& 1", instead of the compromise that X127 was offering.

modoIn proves his point that he was not merely trying to frighten him:

719 RITSRD R192372 KD ORY MRP K971 — since X271 did not say to X111 ‘T will
collect the amount due for the fence from your house by placing a lien on it’.
N — or he should have told X117 —

N7 yan K97 8902 T2 X1 — ‘I will smite you with a thorn that hurts but
does not draw blood’*. These are the types of ‘threats’ that we find in the X3 that
various 0°17 used. The fact that he did not use any of these threats but rather warned him
that if he does not agree to the compromise he will rule according to the strictest
interpretation of the law, indicates that indeed the law is the way it was expounded by 71"
"7 R2OX. If the law does not follow the opinion of >"37 X2°9% 7"3, why did X217 use an
empty threat, which he could not follow up on? He should have used the threats
mentioned, which he could impose, to coerce X117 pay X127 (at least) the X770 7aR.

mMooIN anticipates a question:

(@979 Yonman M7 2w 3,75 77 A50) PITAT 297927 23 YY 81— And even though that
in 1A 29 po -

ROR 712177 23772 HRMR R — Y81 said to the myrtle (2°27:77) merchants
(for the o°1n '7) —

19951921 MR — make your prices equal to the normal market value (do not
overcharge because the people need the 0°0771 for 21w 27) —

!5"97 X2°HX 7" maintains that the 7°3 must pay "7 72 %57 937
2 See 7070 "7 "W,

3 See 8,277 p"2.

* See later 2,%1p 77 2"2. This refers to a »17.
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1971 9372 19 J9wA7 KD X1 — and if not (if you refuse to listen to me) I will
interpret the 7057 according to J127% 529 who maintains that even a loped off 0771
is 2w,

35 MR 797 2TNBIYT ang 9wk sva) — and the Xy wanted to say there
that 9Xw said this in order to frighten the merchants, but not that the 17 is
actually like 1970 . It appears from that X3 that even though >Xmw did not threaten
them with the abovementioned threats (of smiting them with a thorn, etc.), nevertheless
we do not assume that his threat to rule according to 1997 " was a real threat. The 73%7 is
not like 11970 ", it was only an empty threat to frighten them. We may argue that here too
in the case of X117 it was an empty threat, and the 715777 does not necessarily follow the
opinion of >"7 X27X X117 2.

mooIn responds:
S"n WADTS 90 X920 9277 RN 8277 — Here however it seems that X210

indeed maintained so, as > explains®; that we can infer from here that the
1997 is according to °"7 XX 7", (Moo does not explain the difference between our
case and the case of the xox.7)

mooin offers an additional proof that the 70917 is like "7 R29K 7":

799990 B 9% KPR 7Y — and furthermore since X271 said to X111 ‘go
and appease him for the amount—

©992°X7 °X%2 — with which he agreed to compromise’, that —

2N Y2 [ 7 a7 vewn — indicates that according to the law x1°27 was
owed more.

©DN1 "20w Hvawa XY an — if not for the fact that X127 already agreed to

compromise. X271 referred to the amount that he expected ®117 to give X127, as a
compromise on s'R1°27 behalf. This indicates that according to the strict interpretation of
the law, X117 would be required to pay more.

Summary
nooIN maintains that X237 is in agreement with the ruling of *"37 X229 7", If

not, he would not have made this empty threat, but rather would have
warned X111 that there are ways to coerce him to pay X1°27 the X701 73X.

3 If Yxmw had ruled like " that a 0771 may be missing the top, the prices of 2°077 would have fallen
dramatically, since loped off 0°07:7 are plentiful.

% See 7" "7 >"w. We might infer from this moon that mooIn accepted this 71"7137 to be the opinion of
>"w1. Others however suggest that the X07°3 in mM201n be emended to read either 'n°w>7°573' or 'W"1 w57,
referring to the 0"awn. The n" of w"nn, which appears at the end of the 7"737, is "2R1MW 1111 Mo’

7 The commentaries explain that in the case of the 2°077, there was no choice but to frighten them with an
idle threat. X could not have told them that he would make them pay. They did not owe anything to
anyone; they merely raised the prices of the 0°077 (which perhaps they may have had the legal right to do
s0). Here however, if the 175717 is that he is required to pay (only) X7°01 73X, then &2 should have threatened
him accordingly, and not with an empty threat.
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An empty threat may sometimes be used, when there is no other way to
coerce the wrongful party, as in the case of PXW and the 0°0777 merchants.
Another indication that X271 agreed with "7 X2°%% 7"7 is the fact that he
referred to s'%1°27 offer as a compromise, indicating that legally X1°27 could
have demanded more.

Thinking it over
1. Seemingly the second X7 of N1BOIN is readily understood. Why is it only
a ‘second’ proof?

2. If we were to assume that X297 disagrees with "7 X2°9% 73"9; what would
X127 himself maintain in this case?

3. Can this case be in accordance with the XX R1w°H, that XX 1 q°pn
T12?
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